n 5 Ka tillegg av brek (riktig brek) (feil brok)

StudentName: ExamDate: ExamScore:
4 3 4 5
—+ = — 4 - =
3 9 5 9
2 5 3 3
—_+ = — 4 - =
9 8 6 6
1 7 I 1
2 5 9 7
4 4 1 1
5 5 7 6
7 2 77
8 4 2 8
6 6 6 2
4 9 5 6
2 2 3 2
4+ == — 4 - =
3 9 2 8
1 4 2 2
4+ - = — 4 - =
2 5 6 6
3 6 2 1
4+ - = — 4 - =
9 9 g8 2
7 5 4 6
—+ = — 4 — =
9 8 6 8
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= A
n 5 g tillegg av brek (riktig brek) (feil brak)

StudentName: ExamDate: ExamScore:
4 3 5 2 4 5 6] 16
—+Z==1% 4= =1—
3 9 3 3 5 9 5 45
2 5 o6l 3 3
A —+Z=1
9 8 72 6 6
1 7 19 9 1 1 16
g =
2 5 10 10 9 7 63
4 4 8 3 1 1 13
St -=—=12 o=
5 5 5 5 7 6 42
7 2 11 3 7 7 35
4= o2 L=yl
8 4 8 8 2 8 8
6 6 13 1 6 2 23 8
R 1 P
4 9 6 6 5 6 15 15
2 2 8 3 2 7 3
4222 S+ =_ =1
3 9 9 2 8 4 4
1 4 13 3 2 2 2
e R
2 5 10 10 6 6 3
3 6 2 1 3
—+—=1 S4+o==
9 9 8 2 4
7 5 101 29 4 6 17 5
= =12 ey gt
9 8 7 72 6 8 12 12
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